# CONFIDENTIAL

Date Commission Expires: 1

#### Kansas Corporation Commission Oil & Gas Conservation Division

# ORIGINAL

Form ACO-1 September 1999 Form Must Be Typed

### WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 8061 API No. 15 - 175-20080-00-01 Name: Oil Producers Inc. of Kansas County: Seward Address: 1710 Waterfront Parkway -\_\_\_nw\_ne\_Sec. 25\_ Twp. 34\_S. R. 33\_ \_ East P West City/State/Zio: Wichita, KS 67206 \_ feet from (S) / N (circle one) Line of Section 1980 Purchaser: \_ feet from/(E ) W (circle one) Line of Section Operator Contact Person: Lori Zehr Footages Calculated from Nearest Outside Section Corner: Phone: (316\_) 681-0231 (circle one) NE Lease Name: Warden Well #: #3 OWWO Contractor: Name: Duke Drilling Co., Inc. Field Name: Evalyn-Condit NE License: 5929 Producing Formation: Mississippian Wellsite Geologist: \_ Elevation: Ground: 2796 \_\_\_\_ Kelly Bushing: 2808 Designate Type of Completion: \_\_\_ New Well \_\_\_\_\_ Re-Entry \_\_\_\_ Workover Total Depth: 6305 Plug Back Total Depth: 6246 .....Oil SIOW \_ Temp. Abd. Amount of Surface Pipe Set and Cemented at 1569 already set Feet ✓\_\_ Gas ENHR Multiple Stage Cementing Collar Used? ☐Yes ☑No \_\_\_\_ Dry \_\_\_\_ Other (Core, WSW, Expl., Cathodic, etc) If yes, show depth set \_ If Workover/Re-entry: Old Well Info as follows: If Alternate II completion, cement circulated from\_\_\_\_ Operator: Petroleum, Inc. feet depth to\_ well Name: Warden #3 Drilling Fluid Management Plan WI 123309 (Data must be collected from the Reserve Pit) Original Comp. Date: 10/29/1969 Original Total Depth; 6420 \_\_ Deepening \_\_\_\_\_ Re-perf. \_\_\_\_\_ Conv. to Enhr./SWD Chloride content 35,840 \_\_\_\_ppm Fluid volume 320 bbls \_\_\_ Plug Back\_ Plug Back Total Depth Dewatering method used Haul to SWD \_\_\_ Commingled Docket No. . Location of fluid disposal if hauted offsite: \_\_\_ Dual Completion Docket No. Operator Name: See Note #1 \_\_ Other (SWD or Enhr.?) Docket No.\_ Lease Name: \_ License No.:\_\_\_ 8/20/2009 8/22/2009 9/09/2009 Quarter\_\_\_\_ Sec.\_\_\_ Twp. S. R.\_\_\_\_ East Spud Date or Date Reached TD Completion Date or Recompletion Date Recompletion Date INSTRUCTIONS: An original and two copies of this form shall be filed with the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita. Kansas 67202, within 120 days of the spud date, recompletion, workover or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information of side two of this form will be held confidential for a period of 12 months if requested in writing and submitted with the form (see rule 82-3-107 for confidentiality in excess of 12 months). One copy of all wireline logs and geologist well report shall be attached with this form. ALL CEMENTING TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells. Submit CP-111 form with all temporarily abandoned wells. All requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge. Signature: KCC Office Use ONLY Date: 12/4/2009 \_ Letter of Confidentiality Attached Subscribed and sworn to before me this 4111

Notary Public - State of Kansas

If Denied, Yes Date: \_\_ Wireline Log Received Geologist Report Receive

\_ UIC Distribution

Operator Name: Oil Producers Inc. of Kansas				Lease	Name: \	Varden		Well #: #3 OWWO				
Sec. 25 Twp. 3	34 S. R. 33	East	✓ West	County	Sewa	ard		<del></del>				
INSTRUCTIONS: SI tested, time tool oper temperature, fluid red Electric Wireline Logs	n and closed, flowing covery, and flow rates	and shut- if gas to :	in pressures, v surface test, al	whether shong with fi	ut-in pre	ssure reached s	static level, hydro	static pressure	s, bottom	hole		
Drill Stem Tests Take (Attach Additional		☐ Ye	s ✔ No		Lo	og Formatio	on (Top), Depth a	and Datum	Sa	ımple		
Samples Sent to Geo	ological Survey	s 🗸 No		Name	9		Тор	Datum				
Cores Taken  Yes ✓ No Electric Log Run (Submit Copy)					Washdown-no tops							
List All E. Logs Run:				,		, ,						
Dual Receiver C	ement Bond Log				מתם							
	· · · · · · · · · · · · · · · · · · ·	Repor	CASING I		Ne urface, inte	w Used rmediate, product	ion, etc.					
Purpose of String	Size Hole Drilled		e Casing (In O.D.)	Wei Lbs.		Setting Depth	Type of Cement	# Sacks Used		d Percent litives		
Production	_			10.5 &	11.6	6300	AA-2	150				
Purpose:  —— Perforate  —— Protect Casing —— Plug Back TD	ADDITIONAL of Cement	CEMENT!		UEEZE RECORD  Type and Percent Additives								
Plug Off Zone	PERFORATI	ON RECOR	D - Bridge Plug	s Set/Type		Acid. Fra	cture, Shot, Cemer	ut Squeeze Recor	d			
Shots Per Foot	Specify		ach Interval Per	rforated (Amount a			nount and Kind of M	nt and Kind of Material Used) Depth				
2	Chester					3000 gals, v	v/ 15%FE aci		CEIVE	3123-53 D		
			_					DE	C 15	2009		
TUBING RECORD 2	Size 3/8	Set At 6061		Packer /	At	Liner Run	Yes ✓ No		: WICI	_ATIL		
	d Production, SWD or E		Producing Meth	nod	✓ Flowin	g Pumpi			er (Explain)			
Estimated Production Per 24 Hours	Oil	Bbls.	Gas	Mcf	Wat	er B	bls.	Gas-Oil Ratio		Gravity		
Disposition of Gas	METHOD OF (	)N	İ		Production Inter	val			·			
Vented Sold (If vented, S	Used on Lease umit ACO-18.)		Open Hole	Per	f, I	Oually Comp.	Commingled		<del></del>			

#### Attachment-Warden #3 OWWO

BEC 12712

#### Note #1:

Operator Name: West Sunset Disposal

Lease Name: Hatcher #1-12 License No.: 32462

Quarter: NW Sec.: 12 Twp: 33S R: 33W

County: Seward Docket No.: D-30331

Operator Name: West Sunset Disposal

Lease Name: Simonson #25-1 License No.: 32462

Quarter: SW Sec.: 25 Twp: 33S R: 31W

County: Seward Docket No.: D-27929

R

RECEIVED
DEC 1 5 2009
KCC WICHITA



PAGE CUST NO INVOICE DATE 1 of 1 1002993 08/24/2009

INVOICE NUMBER

1717 - 90107815

Liberal

(620) 624-2277

B OIL PRODUCER'S INC OF KANSAS

1 1710 WATERFRONT PKWY

\_ WICHITA

KS US

67206

o ATTN:

LEASE NAME

Warden #3

LOCATION

COUNTY

Seward

STATE

JOB DESCRIPTION

Cement-Casing Seat-Prod W

JOB CONTACT

JOB #	EQUIPMENT #	PURCHASE	ORDER NO.		TE	RMS	DUE DATE		
40080381	30464				Net -	30 days	09/23/	/2009	
			QTY	U of	UNIT	PRICE	INVOICE	AMOUN	
or Service Date	es: 08/22/2009 to	08/22/2009			,				
040080381									
171700209A 0 4 1/2" Longstri	Cement-Casing Seat-Pro	d W 08/22/2009							
AA2 Cement			150.00	ΕA		9.10		1,365.00	
Premium/Comm	on Cement		50.00	EA	{	8.00		400.00	
FLA-115			85.00	EA	ļ	7.50		637.50	
Salt (fine)			776.00	EA		0.25		194.0	
CAF 38 Defoar	ner		36.00	EA		3.50		126.0	
Gilsonite			750.00	EA		0.34		251.2	
Guide Shoe - R	T 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	*	1.00	EA	İ	112.50		112.5	
Insert Float Val	ve - 4 1/2"	g <b>2</b> 333	1.00			100.00	ĺ	100.0	
Centralizer - 4		17 12 2 3	5.00		!	55.00	l	275.0	
Basket - 4 1/2	· 44	9 ° 3	2.00			135.00	ı	270.0	
Super Flush II		J	500.00			0.77		382.5	
	ment Plug - 4 1/2"		1.00			40.00		40.0	
Heavy Equipme			20.00			3.50		70.0	
-	ing Service Charge		200.00			0.70		140.0	
Depth Charge;	ulk Delivery Charge	_ <b>ν</b> ,	94.00			0.80		75.2	
Service Supervi	ear Cheran	Sile	1.00		1	1,620.00		1,620.0	
Car, Pickup or	Van Mileson	<i>P</i> ,	1.00			87.50		87.50	
Plug Container	Charne		10.00 1.00		į	2.13 125.00		21.25 125.00	
	ent for	17/10 Career.						723.00	
	Contraction	~ W				R	ECEIVED	)	
	9	02-34				D	EC 15 200	19	
						KC	WICHI	ΓA	

PLEASE REMIT TO:

SEND OTHER CORRESPONDENCE TO:

BASIC ENERGY SERVICES, LP BASIC ENERGY SERVICES, LP PO BOX 841903 DALLAS, TX 75284-1903

PO BOX 10460 MIDLAND, TX 79702 SUB TOTAL

TAX

6,292.70 412.17

INVOICE TOTAL

6,704.87



### FIELD SERVICE TICKET 1717 00209 A

			one 620-6				DATE	TICKET NO					
DATE OF S	22.9	DISTRICT /7/7		NEW ☐ OLD ☐ PROD ☐ INJ ☑ WDW ☐ CUSTOMER ORDER NO.:									
CUSTOMER (	_	ducers		LEASE Warden WELL NO. 3									
ADDRESS		,		COUNTY SELLEN O STATE NS									
CITY	_	STATE			SERVICE CREW Jason A. Pennie C								
AUTHORIZED B	y 了	erry Bennett	- 1	RH	JOB TYPE: 🗡	ona	Strina	Z41					
EQUIPMENT	# HRS		HRS	E(	QUIPMENT#	HRS	TRUCK CAL	LED S	DATE ZZ 4	9 PM 124			
30464							ARRIVED AT		77.		_		
19919	- 2						START OPE		27.6		$\overline{}$		
14355	<del> 7</del>						FINISH OPE		72.0		<del>'</del> —		
14284	<del>-  2</del> -		$\dashv$				RELEASED		27.6	<u> </u>			
			+		,			M STATION TO					
ITEM/PRICE REF. NO.	***	MATERIAL, EQUIPMENT	Γ AND SER	VICES (	JSED	UNIT	(WELL OWN	RACTOR OR AC					
CL105	AA2 C	<sup>1</sup> m+			V	5/	150			2730	øυ		
(L100	Provivi	n - Common	, men	KU.,		511	50			800	<u>ψΩ</u>		
CC 124	FLA-11	<u>'5</u>				16	85			1275	<u>фо</u>		
CC 111	Solt				مسا	16	776	·		388	þS		
CC 107		Deformer				16	36			252	<u> စပ</u>		
CC 201	Gulsoni					10	750			502	50		
CF250	Guide					EA	/		<del>                                     </del>	752			
CF14/50	/ /	Insert Float Volu	<u>~</u>		مما	+	1		-	200			
<u>CF1770</u>	Centra					ea	2	<u> </u>	-	<u>550</u>	ps -		
CF 1900 CC 155	Boske					1000	500	DEOEN/E		540 7/25			
CF 102	Rubber	Flush 11	•			GA1	1	RECEIVE	u	80	22		
E101	Henri	Equipment Mileos			· ·	mi	20	DEC 15 2	nng	140	w		
CE240	MITING	Service Charge	<u> </u>	<del>'. : :</del>		51	200	UEL 131		280	<del>ن</del>		
E 113	BULK	Delivery Charge		11 6	`	+m	91	KCC WICI	417	150	40		
CE 207	Depth				*	4/15	1	100-1110	1	3340			
E100		Mikage				mi	10				80		
5003		e Supervisor				P4	1			175			
CE 504	Plus Co	intainer Charge				105	1			250			
	EMICAL / ACI		_			_		SUB TO	TAL				
			ゴ	٩	SERVICE & EQUIP	MENT	%TA	X ON \$			+		
Super the	5/11	500 901	4		MATERIALS								
			_	L	<b>32</b> ),		***		TAL.	1.000	70		
										6292	10		

THE ABOVE MATERIAL AND SERVICE ORDERED BY CUSTOMER AND RECEIVED BY: BOL KATPER THEZ



### TREATMENT REPORT

Customer		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		ease No.3	<u> </u>			· · · · · ·	Date		• •				
Lease	11 /10de		Lease No.?						8.	22.9					
West	Station	Liberal		<u> </u>						- /	• • •		Tesas		
Field Order # 2/2/00/204 Type Job/				asing //	1/2 Depth (300 County							e 1/5			
Type Sout	ny String	5 Z41		Forma				mation Legal Description 5-34-33							
PIP	E DATA	PERI	FORATING	DATA	FI	ĻUID U	SED			TREATMENT RESUME					
	Casing Size Shots/Ft		ŧ		**************************************	195K	AA2		RATE PRESS			ISIP			
Depth 300	Depth	From	To		Pre-Pad	1.44/6	13-516	Max				5 Min. ~			
Volume 98	Volume	From	То	7				Min				10 Min.			
Max Press	Max Pres	s From	То	Frac		FAC SUSY Neat		Avg				15 Min.			
Well Connecti		/ol. From	То			1.18 Ft 3-5K		HHP Use	đ			Annulus	Pressu	re	
Plug Depth	Packer D	epth From	То		Y		Gal-SK	me			Total Load				
Customer Re	presentative	Casper	-	Station	Manager		y Benn	off	Trea	ter	 5mall	el Charz			
Service Units	10000	20464	19919	1435	5 142	284		•							
Driver Names	- Charz	30 X	<del>                                     </del>	Poni				3				· ·			
Time	Casing Pressure	Tubing Pressure		Bbls. Pumped				í	Service Log						
135								liver	On	Los	cation	1			
145.								_							
605 -	2000			.5		. 5	Safety Meeting- Rig Up Prisare Test								
610	500			12		1.0	Primo Super Flush 11 Spacer H20						Shid HZ		
620	3 <i>50</i>		3	9	4.3	3	Pump (nt @ 15.0 # '5						<del>,</del>		
635	0			0		0	Proplace - Washup- Dr.					201	2 Plus		
640	650			87	4	5	D. splane								
710	1000.		/	0	, 2	.0	Slour Davin								
715	1500		,5		,	5	Land Pluc - Floot He					4/1	ஆ <sub>இத</sub> ்தின் பெற்றுக்கு		
	**.	W 17			- 1,1,					<b>ノ</b>					
	i	750	1, 2005						== .				_		
745			<u>. 569</u>	'X '	,			5016	Con	nde	10				
		, ^.	10	, ح			<b></b>	ξ,		/					
` Ale; in			3	\i)\\	•							•			
		NET	V					Plus 1	at o	t All	WS ,	HIE			
			•	·						,					
·			,		. 23 	1 1		<u> </u>		RF	CEIVE	<u> </u>		- 1	
			,		4.4		· · · · · · · · · · · · · · · · · · ·			חב	C 152				
	,							· · · · · · · · · · · · · · · · · · ·			<del>C   ° .</del>			<i>:</i>	
										NU	vyiOl	0177			